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BUSINESS STATISTICS-II
Paper-10

Time : Three Hours] [Maximum Marks % 80

Note : Attempt Five questions in all. Q. No. 1 is. cempulsory.
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1. Solve the following ;\Q‘Z)
(1) Y =g (Xand" X = g, + b,Y then the

Coefficient of Correlation will be r = v .~ 3

(i) IfY; = a + pX, % u, then the expression for Total
Variance 15 given by :

2 Y2 = U 3

(iii) Explain the meaning of degree of freedom used in

the Adjusted Coefficient of Determination (Adj-R2),

g
ot

(iv) Define the mathemgztical probability. 3
(v) (oo four factors ¢a sw.. . un variation in sales
of & company. 2

(vi) What is Type-] Erec in Hypothesis tesung 7 2
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Observe the value of monthly sales (Y) and advertising
expenditure (X) of a store in the following table :

Y (Lakhs) : 11 13 16 20 25 31 30 42 29 44 43 38
X (Thousands): 5 6 9 4 6 8 8 912 7 10 9
If the relation is given by Y; = a + bX;, + u, then

compute the values of g and b and interpret their meaning.
16
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3. Discuss the steps involved

in computing standard error of

€stimate and its use in generating forecast intervals fo
T

the equation Y; =a+ bX, + u. Also ?

4.  Suggest the methods to generate probabilities for the

following business situatinn{@:

(a) Monthly demand(s@ a particular spare part in a
workshop ﬁo@%st 3-year monthly data 3

(b)  Quantity uf%gvaste paper from five machines from
one week hourly data 3

(c)  Fixing Likely, Most Probable and Less Likely values
of rate of interest for the future year for calculating
profit 2

(d)  Chances of Pessimistic, Most Likely and Optimistic
Future 2

(e) Probabilities of Yes/No fg_r an event in which Five
Trials are made. 3

(f)  Probability of a random normal distribution ‘X’
“with mean p and standard deviation a. 3
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5. Chances that abundant solar energy at very low cost will
be available to all is 1 out of 10. The development of
internet of e¢nergy is dependent upon availability of
abundant solar energy and chances are 2 out 10. Whether
the abundant solar energy will be available or not is
dependent upon the dirty games played by oil companies.
The success of dixy games played by oil companies
against the solar companies is 4 out of 10. What are the

_ e avictonee
chances that internet of energy would come Inte eXISence
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Remove the cffect of Trend and Seasonality ‘from the

following sales data :

Year/Quarter QI QZ’Q\ 3 Q4
2016 15 21 .20
2007 @%2{} 33 30
2018 ) 35 52 50
2019 60 .50 70 65

The plot the graph of the residuals and find whether

cyclicality is preseni or not. 16
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Observe the following informations taken from sample

ssurvey results of two districts about the satisfaction witl
Citizen Service Centres -

District A District B

Average Satisfaction Score 743 p, = 6.51]
N, 121 N, - 142
13.852

Sample Size
Standard Deviation a, 15.568 o, -

Using a suitable test find whether the satisfaction levels
in two districts differ significantly ? ‘ , 16
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T ITHER N, =121 N = 142

EIEC N C k| c, = 15.568 o, = 13.852
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Explai
in Excel and write syntax of any four of

functions given 6

both types (Total Eight). . .
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